
Prüfungsaufgaben Aufgabe 130b 
 

 

 
 



3.1 

 

x = 2017 - 2005 = 12 Jahre 
 

y = 1 436 725 * 1,029412 = 2 034 153 Einwohner 

 

3.2 

 
Abgelesen: nach 26 Jahren. 

 
Rechnung: 

 
3 000 000 = 1 436 725 * 1,0294x | :1 436 725 

 
2,09 = 1,0294x |lg 

 
lg 2,09 = lg 1,0294x 

 
lg 2,09 = x * lg 1,0294 | lg 1,0294 

 
         lg 2,09   

x = ------------ = 25,44 --> Nach 26 Jahren 

       lg 1,0294  
 

3.3 

 

Diagramm A. 

 

Die Einwohnerzahl nimmt jedes Jahr um 1 800 zu. Dies ist ein linearer 
Zusammenhang --> Gerade.  

 


